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QUESTION 1

Which two statements are true with regard to policy ordering? (Choose two.)
A. The last policy is the default policy, which allows all traffic.

B. The order of policies is not important.

C. New policies are placed at the end of the policy list.

D. The insert command can be used to change the order.

Correct Answer: CD

QUESTION 2

Regarding content filtering, what are two pattern lists that can be configured in the Junos OS? (Choose two.)
A. protocol list

B. MIME

C. block list

D. extension

Correct Answer: BD

QUESTION 3

You are implementing an IDP policy template from Juniper Networks.
Which three steps are included in this process? (Choose three.)

A. activating a JUNOS Software commit script?

B. configuring an IDP groups statement

C. setting up a chassis cluster

D. downloading the IDP policy templates

E. installing the policy templates

Correct Answer: ADE

QUESTION 4

What are two uses of NAT? (Choose two.)
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A. enabling network migrations

B. conserving public IP addresses

C. allowing stateful packet inspection

D. preventing unauthorized connections from outside the network

Correct Answer: AB

QUESTION 5

Click the Exhibit button.

from=-zcne A to=-zone B |
policy Allow {

match |
source-address any:
destination-address any;
application any;

|

then |
parmit;

}
policy DenyTelnet |
match |
source-address Public—side;
destination-address Servar-side;
application junos-telnst;
H
then |
deny

In the exhibit, a new policy named DenyTelnet was created. You notice that Telnet traffic is still allowed.

Which statement will allow you to rearrange the policies for the DenyTelnet policy to be evaluated before your Allow
policy?

A. insert security policies from-zone A to-zone B policy DenyTelnet before policy Allow

B. set security policies from-zone B to-zone A policy DenyTelnet before policy Allow
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C. insert security policies from-zone A to-zone B policy DenyTelnet after policy Allow

D. set security policies from-zone B to-zone A policy Allow after policy DenyTelnet

Correct Answer: A
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